o°

Ay

HE



B
\4Cm/

@ £C=170°
© (A:/D=2:3

ar:l-'
=







4. th& 1%°] DE,EF,FD %04 AABC ©] #o] 33

oz},




ol

—_—

Q)
e

ol
pe

~,
~
__OO

Kfo
e

oln

2] 17

© F

B

o

i

Ay

HE



ot 2™ 4 cABCD ©ooEFGH ©]th. 0ABCD ¢ oEFGH 9] &

6.
EEBERE
A
[80°
12 D ks
'I \H
|
BL C pl—704q
~~-15---- ~9--
-3 @ 3:5 B 3:2



7cm

2cm

14

— Ccm

@ 6cm

® 5cm

39
® 7 o

21
@ 5 om



the o)A

t} o
T e

/}:]"71-53 7

EEEL

vo@ 7cr’n
< ‘b (30 ¢
ONQRIC) e




9.

Zh2t orY
C
/ \\\
! x
/ \
/ \
! \
20 \‘
|
‘ //’ \\
\
\ /12 y\
N \
AR - B
~15--

@ 24, 6 @ 20, 8 5

20, 5 @ 18, 8 ® 16, 9



10. o= I"3 22 /ABC lA] LA 9] o] 5&240] BC ¢ Thv+= A&
D 2 ¢ o, AB = 4cm , BC = 5¢cm , CA = 6em 2F gttt o] o, x
o] Ao|=?
® 1.5cm @ 2cm @ 2.5cm

@ 3cm 3 3.5c¢m



11. o5 I2™9 429 ABC °IA 42k ABD 9] €o]7F 25cm? &
X248 ADC 9] ¥o]=? ’

® 8cm? @ 9cm? @ 10cm?

@ 12cm? B 15cm?



12. ©hg 2ol A AD S Pol & Fatu?

® 8cm



13. AABC o4 BE = CE = 8cm, HE = 5cm ¢ o, x ©] ZAo]=?

e
\ )

A
]
T AD
\
1H
&
-
B ~8cm-"E ~8cm-~
@ 4cm @ T.4cm

@ 6cm B 7.8cm

@ 12.8cm



14. theah 22 AZPAEAA 5, y o gL

AupI7F?
® x=16, y=16 @ x=16, y=18
® x=16, y=20 @ x=18, y=24

® x=18, y=26



15. o2 29A A ABC 9] ZAH A7 BC Y9 A Eofl o=
2 MUtk AF = 7cm, AC = 12cm, BE = 4cm & 0, x 9] Zo]E

Fatelet.




16.

o2 I3 22 AABC |
A AD 7} /A 9] £]7+9] o]
TEAY o, xo] Ho]E

sholat,

ke
=%




17. oS 279 AFZHE O - ABCD o4 oA'B'C'D’ & Zgst= 3§
H3 0ABCD & Eesh= HHo] A= F3¥e of, O - ABCD ¢
O -A'B'CD 94 %}%H]{—___?




18.

e O8I 22 AABCOA A =
(DBCo°]1, AB = 10cm, AD =
9cm, DC = 3cm, BC = 6em Y o,
BD 9] Z4o|& st




19. o= ZId™olA x & gt& F5tof=t.




20. ©& 1%el4 DE//BC, FE//DC |t} ojuf, x o] o=

@D 3 ® 3.2 ® 3.6 @ 4 ® 4.2



